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inf24f_229
inf24f_ 229
inf24f_229
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inf24f_229
inf24f 229

TeXHUYeCKUX 6ainmos

71 mTorOBHE 6ajia

1 python3 Partial solution 7 16
2 python3 0K 28 100

3 python3 0K 28 100

4 g++ Partial solution 3 10

5 g++ 0K 22 100

6 python3 OK 11 100



IToceinka 1o 3amaue 1

[1] dp = [1, 2, 4, 7, 13, 24, 44, 81, 14%, 274, 504, 9527, 1705, 3136, 5768, 1060%, 15513,
35890, 66012, 121415, 223317, 410744, 755476, 138%537, 2555757, 4700770, B¢4e064,
15502591, 25249425, 53758080, 98950096, 181997601, 334745777, 615693474,
1132436852, 2082876103, 3831006429]

[2]

[3] def counti(n):

[4] i = lgn(dp) - 1
[5] gnt = 0

[61 while n > 0:

[7] if n // dpli] > 0O:
[8] gnt += 1
[2] n —= dp[i]
[10] i-—=1
[11] else:

[12] i-=1
[13] return gnt

[14]

[15] n = int (input())

[1e]

[17] ans = 0
[18] for i in range(n):

[1%] ®x = int (input ())
[20] ans += count(x) % 2 ==
[21]

[22] print (ans)
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[1] from sys import exit

[2]

[3] s = input()

[4] _COLORS = sorted(list("WROYGCBVYD"))
[5]

[6] MAGIC = 2008

[7]

[8] colors = {}

[9] for i in _COLORS:

[18] colors[i] = [@ for _ in range(MAGIC)]
[11]

[12] def add(s, ratio):

[13] global colors

[14] i = ratio

[15]

[15] while s[i] == 1:
[17] s[i] = @
[18] i-=1

[19] s[i] = 1

[20] return s

[21]

[22]

[23] def parse(start, ratio):
[24] global s

[25] parsed_count = @

[2B] i = start

[27] while parsed_count < 8:
[28] if (s[i] == "Q"):

[29] nxt = parse(i + 1, ratio + 3)
[38] parsed_count += 1
[31] i = nxt

[32] else:

[33] colors[s[i]] = add(colors[s[i]], ratio + 3)
[34] 1 +=1

[35] parsed_count += 1
[36] return i

[37]

[38] if s[@] == 'Q":

[39] parse(l, @)

[48] else:

[41] print{s)

[42] print(1.8)

[43] exit()

[44]

[45] def get_ans(x):

[46] if (x == 1.8): return "1.0"
[47] if (x == 8.8): return "B.0"
[48]

[49] ans = ""

[5@] while (x > @):

[51] x %= 2

[52] if (x »>= 1):

[53] ans += "1"

[54] x -= 1.8

[55] else:

[56] ans += "@"

[57] return "@." + ans

[58]

[59]mx_val = [@ for _ in range(MAGIC)]
[68] for 1 in _COLORS:

[61] mx_val = max(mx_val, colors[i])

[62]

[63] for i in _COLORS:

[64] if colors[i] == mx_val:

[65] print({i)

[66] end = @

[67] for j in range(len{mx_wval) - 1, -1, -1):
[68] if mx_val[j] == 1:

[69] end = J

[70] break

[71] print(mx_val[@], ".", "".join(map(str, mx_val[l:end + 1])), sep="")
[72] break

[73]
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[1] mean = {

[2] b Tt I
[3] i 2,
[4] it 3,
[5] "I": 4,
(6l "I(": 5,
[71 "I((": 8,
[8] "y". 7,
(sl "1)": 8,
[1e] "3))": 9,
[11] "j": 18,
[12] "yt 11,
[13] "t 12
[14] F

[15]

[16] reverse_mean = {}
[17] for i in mean:

[18] reverse_mean[mean[i]] = i
[12]

[28] reverse_mean[8] = ""

[21]

[22] BRACKETS = list("()")

[23]

[24] def parse(s):

[25] if s == "[1": return @
[26] cur_mul = 1

[27] i=20

[28] finish = 1

[29] ans = @

[3@] while i < len(s):

[31] while finish < len(s) and s[finish] in BRACKETS:
[32] finish += 1

[33] val = mean[s[i:finish]]
[34] ans += val * cur_mul
[35] i = finish

[36] finish =1 + 1

[371] cur_mul *= 12

[38]

[39] return ans

[4e]

[41] def mod(x):
[42] m=x % 12

[43] if m == 8: return 12
[44] return m
[45]

[46] meaning = ["" for _ in range(585)]
[47] for i in range(@, 13):

[48] for j in range(@, 13):

[49] for k in range(@, 13):

[5@] x = reverse_mean[i] + reverse_mean[j] + reverse_mean[k]
[51] n = parse(x)

[52] if n » 5081: continue

[53] meaning[parse(x)] = x

[54]

[55]

[56] with open("input.txt") as f:
[57] data = f.read().splitlines()
[58] n = int(data[e])

[59] nums = [@ for _ in range(n)]
[6@] for i in range(n):

[61] nums[i] = parse(data[i + 1])
[62]

[63] mx_mod = -2e9

[64] mx_sum = -2e9

[65] ans = [@, 8]

[66] for k in range(n):

[67] for 1 in range(k + 1, n):

[68] if abs(nums[k] - nums[1]) > mx_mod:

[69] mx_mod = abs(nums[k] - nums[1])

[7e] mx_sum = k + 1

[71] ans = [k + 1, 1 + 1]

[72] elif abs(nums[k] - nums[1l]) == mx_mod and k + 1 > mx_sum:
[73] mx_sum = k + 1

[74] ans = [k + 1, 1 + 1]

[75]

[76] print(meaning[ans[@]])
[77] print(meaning[ans[1]])
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[1] #include <bits/stdc++.h>
[2]

[3] wusing namespace std;

[4]

[5] int r, c;

[6] wvector<vector<int>> T;
[7] wvector<vector<int>> dp;

(8]

[9] int get_max(int row, int column) {
[18] int a, b, c;

[11] a=>b=1c=-1e9;

[12] a = dp[row][column - 17;

[13] if (row + 1 < r) {

[14] b = dp[row + 1][column - 1];
[15] }

[16] if (row - 1 »=8) {

[17] c = dp[row - 1][column - 1];
[18] ¥

[19]

[28] return max({a, b, c});

[21] }

[22]

[23] int get_max_ind(int row, int column) {
[24] int a, b, c;

[25] a=Db=c=-1e9;

[26] a = dp[row][column - 17;

[27] if (row + 1 < r) {

[28] b = dp[row + 1][column - 17;
[29] ¥

[38] if (row - 1 »= 8) {

[31] c = dp[row - 1][column - 1];
[32] ¥

[33]

[34] if (a >=b & a »=c) {

[35] return row;

[36] ¥

[37] if (b >=a && b »= c) {

[38] return row + 1;

[39] ¥

[48] return row - 1;

[41] }

[42]

[43] int main() {

[44] cin »» r »» c;

[45] int rl1, r2, r3;

[46] cin > rl »> r2 »>»> r3;

[47] f.resize(r, vector<int>(c));
[48] dp.resize(r, vector<int>(c));
[49]

[58] int ans = 8;

[51]

[52] for (int i = 8; 1 < r; i++) {
[53] for (int j = @; j < c; j++) {
[54] cin »» f[11[3];

[55] 3

[56] ¥

[57]

[58] for (int i = @; i < r; i++) {
[59] for (int j = @; j < c; j++) {
[60] dp[i][3] = @;

[61] 3

[62] ¥

[63]

[64] dp[ri][e] = f[ri][e];

[65]

[66]

[67] for (int i = 1; 1 < c; i++) {
[68] for (int j = ©; J < r; j++) {
[69] dp[31[i] = get_max(j, i) + F[F1[il;
[70] }

[71] }

[72]

[73] int mx = -1e9;

[74] int mx_ind = -1;

[75] for (int i = 8; 1 < r; i++) {
[76] if (dp[i][c - 1] » mx) {
[77] mx = dp[i][c - 1];

[78] mx_ind = 1i;

[79] 3

[se] }



[81] ans += mx;

[82] int row = mx_ind;

[83] flrow][c - 1] = @;

[84] for (int column = ¢ - 1; column > @; column--) {
[85] row = get_max_ind{row, column);
[86] flrow][column - 1] = B8;

[87] ¥

[88]

[89]

[98] for (int i = 8; i < r; i++) {

[91] for (int § = B; J < c; j++) {
[92] dp[11[3] = @;

(931 }

[94] ¥

[95]

[96] del[r2][e] = f[r2][@];

[971

[98]

[99] for (int 1 = 1; 1 < c; i++) {
[188] for (int §J = ©; J < r; j++) {
[1e1] dp[J1[i] = get_max(j, i) + F[JI[il;
[1€2]

[1e3] }

[104]

[185] mx = -1e9;

[186] mx_ind = -1;

[187] for (int i = 8; 1 < r; i++) {
[188] if (dp[i][c - 1] > mx) {

[1@9] mx = dp[i][c - 1];

[118] mx_ind = 1i;

[111] 1

[112] b

[113] ans += mx;

[114] row = mx_ind;

[115] flrow][c - 1] = B;

[116] for (int column = ¢ - 1; column > @; column--) {
[117] row = get _max_ind(row, column);
[118] flrow][column - 1] = 8;

[119] b

[120]

[121]

[122]

[123] for (int 1 = @; 1 < r; i++) {
[124] for (int §J = ©; J < c; j++) {
[125] dp[11[3] = &;

[126] }

[127] }

[128]

[129] de[r3][e] = f[r3][0];

[130]

[131]

[132] for (int 1 = 1; 1 € c; i++) {
[133] for (int j = ©; j < r; Jj++) {
[134] dp[J1[i] = get_max(j, i) + F[JI[il;
[135] 1

[136] b

[137]

[138] mx = -1e9;

[139] mx_ind = -1;

[14@] for (int 1 = @8; 1 < r; i++) {
[141] if (dp[i][c - 1] » mx) {

[142] mx = dp[i][c - 1];

[143] mx_ind = 1i;

[144] }

[145] ¥

[146] ans += mx;

[147] row = mx_ind;

[148] flrow][c - 1] = @;

[149] for (int column = ¢ - 1; column > @; column--) {
[15@] row = get max_ind(row, column);
[151] flrow][column - 1] = 8;

[152] ¥

[153]

[154] cout << ans << endl;

[155] }
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[1] #include <bits/stdc++.h>

[2]

[3] using namespace std;

[4]

[5] int main() {

[6] string s;

[7] cin »>> s;

[8] string need;

[9] cin >» need;

[18] int total_count = @;

[11] vector<int> count_need(15@, -1e9);
[12] int need _size = need.size();
[13] for (int 1 = @; 1 < need_size; i++) {
[14] char ¢ = need[i];

[15] if (count_need[c] == -1e9) {
[15] total_ count++;

[17] count_need[c] = @;

[18]

[19] count_need[c]++;

[2e] }

[21] vector<int> cur_count(158@, @);
[22] int cur_total = @;

[23] int i = 8;

[24] int j = B;

[25] int s_size = s.size();

[26]

[27] int mn_len = 1le9;

[28] int a = -1;

[29] int b = -1;

[38] bool match = false;

[31] bool found = false;
[32] while (1 ¢ s_size) {

[33] if (Imatch) {

[34] if (j == s_size) break;

[35] char ¢ = s[j];

[36] cur_count[c]++;

[37] if (cur_count[c] == count_need[c]) cur_total++;
[38] J++;

[39] 1} else {

[40] if ((3 - 1) < mn_len) {

[41] mn_len = j - 1i;

[42] a = i;

[43] b= 3;

[44]

[45] char ¢ = s[i];

[46] cur_count[c]--;

[47] if (cur_count[c] == count_need[c] - 1) cur_total--;
[48] i+

[49] 1

[se]

[51]

[52] match = cur_total »= total_count;
[53] found = found || match;

[54] }

[55] if (found) {

[56] for (int i = a; 1 < b; i++) {
[57] cout << s[i];

[58] 1

[59] 1

[6@] cout << endl;

[61] }
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[1] with open{("input.txt") as f:

[21 data = f.read().splitlines()
[3]

[4] tasks = {}

[5]

[6] def filt(x):

[7] if x == "OK": return 1

[8] return @

2]

[18] for i in data:

[11] i = di.split(";")

[12] task = 1[0]

[13] if not tasks.get(task):

[14] tasks[task] = {"runs": [], "tests": @}
[15]

[16] tests = list(map(filt, i[1:]))
[17]

[18] tasks[task]["runs"].append(tests)
[19] tasks[task]["tests"] = max(tasks[task]["tests"], len(tests))
[20]

[21]
[22] for task in sorted(tasks.keys()):

[23] count = set()

[24] for i in range(tasks[task]["tests"]):
[25] cnt = "t

[26] for j in tasks[task]["runs"]:

[27] if i »= len(j) or j[i] == @:
[28] cnt += "@"

[29] else:

[38] cnt += "1"

[31] count.add(cnt)

[32] print(tasks[task]["tests"], len(count))



